i 27

/2.8) 1T
Tz O 7 4

(s8°1) (ones) - 25

12.12.) i
oLiL{AT ALl’ AL, L7
AL =et, L, 4T t
ST AW Lf Al | 2aenty,
a(i o.S‘*/o"/, (010)
L= S5m C
12.30) |5/ Jf 970% Ligud 7

/) 3832 L a/ /%0C
BVAT=AV 5o AV

VA f{)#/o—l/ '/.c = ;450 e

\M‘O.DS'?// L=0/5n Al 30~

(o

12.5D.) 4) L= (=238 U/,“)oc

Q7 ALAT=AL AT= AL A = /7»/0“:/
oL L *

= = AL
R=cw BT = ewm XL = /40T

12.58) =10* jop L,“,—Bszo"DV =10k Q=i pt
\V\ , 07.—

@ =
@ AT = (2.5 )% )00)(!0) 2¢10°T
QMELT ”"L = /0(33.5';“0"') = 33840 v

QL,;& = Y )rptT- 3.55w*T = O.5ew 1T =ewm AT

AT= Qubt _ o.5Ba /o‘




